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Math 202 Quiz 3 .

Directions Answer all questions in the space provided and box your final answers. Good luck!

1. Use the comparison theorem to determine if each of the following integrals converges or diverges.
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2. (8 points) Sketch the region enclosed by the curves

y=|z|+1 and y=2z2-5, °

and find the area of the region.
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3. Sketch the region enclosed by the curves

Yy=— y=0, $=l, and z=3
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and find the volume of the solid obtained by rotating the region about the the line z = —1 in two ways.

(a) (8 points) By using the method of disks and washers.
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(b) (8 points) By using the method of cylindrical shells.
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4. (8 points) Find the length of the curve

Page 4



5, (8 PoutSN A (At THA{ WEBHS ’Z.Lb/\:.( 1S used Mo WA

8o Uy oF AL 0P A MNe SKAFT  B0D B{ DeeRP, Fwd

‘fmz, Wo, DeBE .

Wae ODave Up G CAbLe
——— i

VIAXe To 1R & MG

A
W.xFd= (2 Lbht\(A)( A ()(;\

Wt & (™ fee

F (Al
o0 . 500
W - \Lxéx = X \ T 150000 B,
Vo vone Lot Coar
—

V= ¥d = (8o tos\( oo f¢) = 400000 v -i6s

1AL Woll = 150000 + Y0O00O0Q = k@ogoo 2B S




3. Sketch the region enclosed by the curves

y=—, y=0, =1, and z=3

and find the volume of the solid obtained by rotating the region about the the line z = —1 in two ways.
(a) (8 points) By using the method of disks and washers.
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(b) (8 points) By using the method of cylindrical shells.
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